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Multiplication of Decimals minmnﬂuﬂu
3\| 3\| @ /] L?j EJ % Multiplication of a whole number by decimal is a

process of finding the repeated addition of that

31

decimal.
For example, 3 X0.1 = 0.1 + 0.1 + 0.1
=03
To multiply a decimal by 10, 100 or 1,000 move the

jn decimal point 1, 2, or 3 places to the right respectively.

Example
Multiply 3.26 by
(1) 10
(2) 100
(3) 1000

Solution

(1) 3.2?»)( 10 = 32.6
Move the decimal point 1place to the right

(2) 3.26 X 100 = 326
—|.> Move the decimal point 2place to the right

(3) 3.26 X 1000 = 3260
(N

Move the decimal point 3 place to the right

Example A tin of biscuits weight 1.25 kg, What is the total mass of 18
tins of biscuits ?.

Solution
125X 18=225 — % 1.25 .
18
1000
1250
2250

Therefore, the total mass of 18 tins of biscuits is 22.5 k.
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Division of a of a decimal by a whole number by is a

process of equal sharing of that decimal.

For example, 0.2
0.6 4, 0.2

0.2
To divide a decimal by 10, 100 or 1,000 move the
decimal point 1, 2, or 3 places to the left respectively.

Example
Divide 739.2 by

(4) 10

(5) 100

(6) 1000
_Solution
(4) 73922 =+ 10 = 73.92

Move the decimal point 1 place to the left

(5) 739.2 + 100 = 7.392

_|'> Move the decimal point 2 place to the left

(6) 739.2
(N

=+ 1,000 = 0.7392

Move the decimal point 3 place to the left

Test yoursel
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Example
Divide 0.685 by
(1) 0.1
(2) 0.01
(3) 0.001
Solution
(1) 0.685 + 0.1 = 6.85
—I" Move the decimal point 1 place to the right
(2) 0.685 + 0.01= 68.5
Move the decimal point 2 place to the right
(3) 0.685 + 0.001= 685
~4 Move the decimal point 3 place to the right

33
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35

‘ 4 a
bNAIDUIIDUAN 5
n@ann : Wilddaae 0.1, 0.2, 0.3, 0.4,0.5, 0.8, 0.9,-0.1,-0.9 ldaslugudinten
sUaz 1 3uruwindulaglilidaaedniu Winaaawindudiuaunnualiluguudn

MAYUNILUIAUAZLLIYBY

ninn: Whihdev 0.2, -0.2, 0.4, 0.5,-05, -3.1,3.1, 4.2, uaz -4.2
Tdlugusivaey guas 1 3wty lagldlvdaaudniu

-4.2 -1.68

X -

4.2 ~- |-05 X 26.04
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1'% a
bNUIDUIIDUAN 7

yauszasANsEEus : Anvinvensenuaznismsnateuiasinyensuitym
AWiau - ildduay -0.25, -0.5, -2.5, -4.2,0.05, 0.5, 0.7, 1.11, uaz 2.5
Taadlugudvaen sUas 1 Srunuwimiulagliliiadi

nAn: Wnagauuazkamswinfusiuuiiduuslflugumdssmauuanauas
WWIUDY

42 | = X =
X X X
x x -0.25 = _0.3125
-2 X — =
> 0.25
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Y o = oy A
YUUTIUANWIUN 1

1181 40 Wl ASLUWAN 30 ASWUU

AITUAY  AUABNANNBUNGNTIEANESAINBULAYY LadiATamanenInumasly

NZATYAINBAU

1.

n

(—1.2)X 0.9 fiAwila
n. 1.08

A. -1.008
(—2.53) X 0.4 fiAwila
n. 2.012

A. -2.012

(-2.25) X 2.1 fawila
n. 47.25

A. -47.25

(-3.01) X (-0.3) HAwinudale

n. -9.03
A. -0.903

wagaludolatidnunniign
n. 25X 1.5

A 29 X 1.1
nagaludelafidntiasiign
n. 25X 1.5

A 29 X 1.1
nagaludolatidrunniign
n. (-2.01) X 1.5

A. 2.9 X (-2.8)

napaludalaiid1asiign

n. (-2.01) X 1.5

A. 2.9 X (-2.8)

. -1.08
4. 1.008

2. 1.012
4. -1.012

. 4.257
3. -4.725

9. -9.309
4. 0.903

v.2.1X29
4 3.2X09

v (-2.1) X 2.9
1. (-3.2) X (-0.9)

¥.1.5 X (-9.2)
4. (-3.25) X 0.9

¥.1.5 X (-9.2)
3. (-3.25) X 0.9
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9. nagaludalaiiduandisaindadu o

10.

11.

12.

13.

14.

15.

16.

17.

18.

n. (-2.02) X (-1.5)
A. (-1.01) X (-3.1)

napludeladiduansisaindadu 9

n. (-2.02) X 1.5

A. 5.05 X (-0.6)
talagnaias

n. 2.81 X (-0.5) = 14.05

A. 1.25 X (-0.2) =-0.25
talagndias

n. (-0.25) X (-1.1) =-0.275
A. (-2.5) X (-0.9) =-2.25
talagneias

n. (-1.11) X (-9.1) = -10.101
A. (-5.2) X (-1.3) = -6.76
Felasinagaiiiosiign

n. (-2.3) X (-3.1)

A. (-2.3) X (-1.1)
napaludalann

n. (-1.07) X (-1.1) = 1.117
A. (-3.15) X (-1.3) = 4.095
NARIIVDY 24.06 + (-12.0)

n. 2.005

A. 2.050

Waw1svas (-15.6) -+ 12
n. -1.1

A -1.3

Naun13vas (-6.25) +5
n. -1.25

A, -125

S 1
favinla

Wl

D
3.

fanvinla

. 121 X 3.1

. (-1.5) X (-2.02)
. (-5.05) X (-0.6)

. 1.5 X (-2.02)

. (-1.505) X 0.3

.9.21 X (-1.1) =9.21
. 2.05 X (-0.1) = 2.05

. (-0.6) X (-3.2) =-1.92
. 2.05 X (-0.1) =-0.205

. (-9.1) X (-1.11) = 10.101
. 3.05 X (-0.4) =1.22

73 X 6.5

. (-3.20) X (-0.62) = 1.984
. 3.05X(-04) =-122

. -2.005
. -2.050

.-1.2
. -1.4

. 1.25
. 125

38



19.

20.

21.

22.

23.

24.

25

26.

217.

28.

NauN15v84 (-99.3)
n. 131

A. -331
Nau1sves (-121) <+ 0.1
n. -1.121

A, 1100

NANISYDY 0.512

n. 0.023

A. -0.032
nannsludalagnias

n. 0.144 +(-0.12) = 1.2

A. 1.69 + (-0.13) = -13
navsludalagnias

n. 343 -+ (-0.7) =-4.9
A 2.25 <+ (-0.15) = 15
nansludalagniias

n. (-0.81) + (-0.3) = -2.7

A. 1.96 +~(-14) =14

JolaA1nauin

n. 3.43 -+ (-0.7) =-49
A. 2.25 =+ (-0.15) = -15
nansludalafiaiosiian

n. 2.7 -+ (-0.3)

A. 2.25 =+ (-0.15)

navnsludelaiiduiniian
n. 28 =+ (-0.4)

A. 0.28 + (-0.4)

wuuRnvinye aui 4 nN1spakasnIIRITVAles

+ (-0.3)  dAwvinle

1 AAvinle

+ (-16) Aanvinla

Navsludalnlia1fi19a1ntedu 9

n. 1.44 -+ (-1.2)
A. 4.32  +(-3.6)

. 2.56
. 841

. 2.56

. (-2.56)

. (-2.56)

. 0.028

. (-1.08)

. 331
. 133

.-1,100
. 1121

.-0.023
. 0.032

+ (-0.16) = 16
<+ (-0.29) = 29

.12.96 +(-3.6) = 3.6

<+ (-04) =64

. (-0.3125) + (-0.5)= -0.625

728+ (-02) = -36.4

.12.96 +(-3.6) =-3.6

<+ (-04) =-6.4

.12.96 +(-3.6)

<+ (-0.4)

. 2.8 + (-0.4)

<+ (-0.4)

84 + (-0.7)

<+ 0.9

39
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29. HARMYBIFBIILIUAD 0.539 ddrudunilde 1.1 Bndruduniledidinls
n. 0.041 9. 0.41
A. 0.49 i 4.1

30. HAQNUBIABITIUIUAD 0.0714 Hrsurunilede 0.07 Bndnuruwiedaninls
n. 1.74 9. 0.20
A. 1.02 4. 201

40
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41

w4
N1IAMLATNITNTNALYY

1RAY
= Q/
LLUUNNNNEE



4 wuuRingt 1 A
1. 17.64
2. 0.42
3. 0.99
q. 2.34
5. 6.0
6. 10.08
1. 0.208
8. 1.278
9. 7.684
10. 10.935
11. 11.76
12. 3.63
13. 15.68
14, 77.35
15. 59.64
16. 2.73
17. 3.468
18. 19.744
19. 2.745
20. 10.098

wuuRndinwe (dui 4 n1sgadaznIsnIsNAdes

-

1
2
3
aq
5.
6
7
8
9

wuulndl 2
-31.820
-0.768
-7.704
-2.22
-3.575
-13.68
-138.45
-4.508
6.025

10. 2.794

~

~N

By 01 2 LN e

—_
=

wuUilng 3
3.0525

1.9964
-9.3021
-2.375
4.879
12.32
45.045
1.6848
1.7745
5.292

~
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LUURINT 5

- i o
' e
\ - A

[ wuuslngi 4 :
1. 0.001 1. a=04, b=06 wazc=-2.12
2. 0.3 4| 3591 ab - c = {(0.4) X (0.6)} - (-2.12)
7 e -{0.24}+ 212
=2.36
il 0.455
5. -151.8
6. 0
7. 1805.0
.a=-3, b=45 ua¥c=-6.6
8 R i 3541 ab - c = {(-3.0) X (4.5)} - (-6.6)
9. -3.975 | ={-135}+6.6
10.  102.00 : = -6.9
11.  -56.943
12.  13.59
13. 1221.00
M 3. a=-5, b=24 wazc=7.9
14.  265.00 { 3341 ab - c = {(-5.0) X (2.4)} - 7.9
15.  89.00 | = {-12.0 } + (-7.9)
16. -0.8125 : =-19.9
17. 1.782
18.  -4,504.5
19.  -100,003
20. -202.50
ab - c = {(-8.3) X (-2.2)} - 10.5
- {18.26 } + (-10.5)
- 7.76
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e R M L T
w 22 o |

5. a=-9.6, b=-1.1 uaz c = -4.8 wuuilng 8
B ab-c={(9.6) X (1.}~ (48  f| 1. 3.125
={10.56}+ 4.8 2. 3 56
= 15.36
gy 15.36 3. 0.303
4. 15,316.0
wuuRngi 6 7 wuuRlndi 7 > 01
1. 0.6 1. 56 6. 510
2. 0.07 2. 45 7. 29.248
3. 0.24 3. 124 8. 120
4. 0.036 4. 211 9. 3.26
5. 0.256 5. 322 10. 1.34
6. 0.0009 6. 1.29 11. 273
7. 0.0374 B 431 12.0.01
8. 0.00061 8. 6.37 13. 14.15
9. 0.07453 R 374 14. 476
10. 0.099 10. 9.995 5. 4.1
16. 4.0
e 2,100
8. 1.25
o 34.1
20. 74.6




LUURNA 9

1. -13
2. -12
3. -33
4. -22
5. 28.54
6. -2.7
7. -4.5
8. -5.2
9. -6.3
10. -3.2
11. -6.6
12. -0.25
13. -3.81
14. -5.24
15. -10.23
16. -5.71
17. -50.5
18. -17.3
19. -14.5
20. -21.1

wuuRndinwe (dui 4 n1sgadaznIsnIsNAdes

wuvUiing 10

2 B sl e e N =

N P P R R R R R R R e
S © ® N0 LA BN DO

0.5
2.2
2.3
5.0
7.5
-3
4.4
0.67
1.2
1.8

. 204

200

. 4.61

0.37
2.5

2.5

2.31
42.1
57

/.8

Ya

o el U A

wuUsnd 11

a =

a=

(o))
Il

a <
1 Il

\

122

-1
-2.1
-2%

-12

-1.7
-86.825
9.8

9

45



wuuRndinwe (dui 4 n1sgadaznIsnIsNAdes

46

b D

N — i S ——

98 1 2911A1%84 (b - )+ a WaNIMUAAIYBY a, b, wag c T
famalull

8.4+12.1

0.5 0.1

g mau 41.0 fay 75.0
'--I.ll-ll"l 1;f Qﬁii:i 1\: &ﬁﬁ \M o l:"h.l::":'#.&'_ 1;f gﬁji:’l 1? &ﬁ# i

—0.7 3 j ‘ —0.9
| 147 f/ _ (—24.4)+(—12.5)
F o7 i . —0.9 |
- —21.0 | —36.9
? 14
 AeU 21.0 0 - 41.0
Rt




wuuRndinwe (dui 4 n1sgadaznIsnIsNAdes

-
g
| 38vin 3
: boon. (—36.4)—(—62.8)
—1.2
(—36.4)+ 628
~1.2

p 264

—12
| - -22.0

nu -22.0

WTLETTL‘L!J %.'m_hl:\:"ml - =

ab - c = {(0.4)X (-0.6)} - (-2.12)
={-0.24 } - (-2.12)

={-0.24 } + 2.12

= 1.88

47

~15
(—2.25)+0.75

—1.5
—1.5

—1.5
1.0

ab - c ={(1.9) X (-1.2)} - 3.05
={-2.28} - 3.05
= {-2.28 } + (-3.05)
=-5.33

-5.33

ab - c = {(-3.01) X 4.5} - (-9.9)
= {-13.545} - (-9.9)
={-13.545} + 9.9
= -3.645

ab - c = {(-5.1) X 2.4} - (-17.9)
={-12.24 } - (-17.9)
= {-12.24} + 17.9
= 5.66

nau 5.66

I Y I L L
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48

a=-1.06, b = -1.1, c= -44.8

R R T e SR e
A ' + i = SR
{ ab-c={(53)X (12)} - (-10.5) ]{[ ab - ¢ = {(-1.06) X (-1.1)} - (-44.8) F
i = {6.36} - (-10.59) '-"; = {1.166} - (-44.8) Y
= {636} + 10.59 ,'- - {1.166} + 44.8
!. = 16.95 = 45.966
lk" fou  16.95 '

AT )
i T

0.1

0.8 X 0.3 X 0.5 |8

X X X

0.9 [REREERL 0.1, [ERES . 0.4 (B
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LRAYNNTIUIITAUAN 6

IRAYINUTOUTOUAR 7

-4.2 = 0.7 | o 1.11 | _ ‘
X X X

2.5 % 0.5 % -0.25 | =

25 | x 0.05 [ = -0.5 | =
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LUURNNNGE
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<
AZLUULAY 30 AZLUY
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v = =2 o/
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SouaY
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LUURNN 200
2011010 {20 (151101012020 (20 |9 36
(200)
GR
(30)

nan1susadiv [ ety (@azuuudosaz 80 Iuld)

O 'lisinu (dazuuusinin¥asas 80)
gniseunuunagaunadssulantunueisasaz 80 Auld 399z

1 (8% 14 v
RIULNEUNATUAITUI AU 1R

-4 a
WNUNNISUTSLUUNEA

ASLUUTIN 160 - 200 ASLLUU

ASLUUII
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NUMA guanINalazAne. 2553, nilsdellunelviuguadiaanstuliseufnw-

ES)

Y

UM L EN 2. NyunnumIuas:  SnusLaseyvia.

o
]

Junsiiiey yuAguazamy. LU, AlEATUAXUNUNITIANISSEUTANSYMSISEU
aflamans suseufnui 1. ngumasuns:  Snwaiaaied,

At el 2548 wddadsumsrnsdoudilugiuadamans
futseudnwdi 1. nyunmamues: TseRuwiszaudassida.

USeyeyn waasege. wdd. gernnisAauasnsuilymniadaaansseay
Uszaudnw).  ngemmaviuas: (@Um).

wssel Aaudwundud. 2546 wilsdelSsuansznisiseuiadinAansugIu Ly 2

Y = apal o W a faa ¢ 4
YUNTYUANWIUN 1. ATIWRNNUNTUAT: ANUNNUNNAN A ULADST.
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FulseufnwUin 1181 2. NmNUIUAT:
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